Generalized Identities on Derivatives of p(y)-Fibonacci Polynomial And p(y)-Lucas Polynomial

Vipin Verma^{#1}, Tahseen Ahmed Itoo^{*2}

[#]Associate Professor, Department of Mathematics, School of Chemical Engineering and Physical Sciences Lovely Professional University Jalandhar-Delhi G.T Road (NH-1) Lovely Professional University, Phagwara, Punjab

^{*}M.Sc. Student (Registration no.11714947), Department of Mathematics, School of Chemical Engineering and Physical Sciences Lovely Professional University

Abstract — The Fibonacci and Lucas Polynomials are well known for having interesting and amazing properties and identities. In this paper we introduce $\mathbf{p}(\mathbf{y})$ -Fibonacci and $\mathbf{p}(\mathbf{y})$ -Lucas polynomials where $\mathbf{p}(\mathbf{y})$ is a polynomial with real coefficients and some basic identities are derived by using generating function of these polynomials.

Keywords — p(y)-Fibonacci polynomial, p(y)-Lucas polynomial.

I. INTRODUCTION

Fibonacci and Lucas polynomials are firmly related and generally explored. The Fibonacci and Lucas polynomials are outstanding for having intriguing and stunning properties. These polynomials are of incredible significance in the investigation of numerous subjects, for example Approximation theory, Combinatorics, Algebra, Geometry, Statics and Number theory itself. Some of the captivating properties of these polynomials have been examined in [1], [2], [4]. Omprakash Sikhwal [6] in his paper obtained some identities of generalized Fibonacci Polynomials by the method of generating functions, in this paper we have obtained some identities involving derivatives of p(y)-Fibonacci and p(y)-Lucas polynomials by method of generating function.

II. p(y)-FIBONACCI POLYNOMIAL

p(y)-Fibonacci polynomials defined by the recurrence relation as $F_{p,n+1}(y) = p(y)F_{p,n}(y) + F_{p,n-1}(y), n \ge 1$ (2.1)with initial condition $F_{p,0}(y) = 0, F_{p,1}(y) = 1$ where, p(y) is a polynomial with real coefficients first few p(y)-Fibonacci polynomials are $F_{n,1}(y) = 1$
$$\begin{split} F_{p,2}(y) &= p(y) \\ F_{p,3}(y) &= p^2(y) + 1 \end{split}$$
 $F_{v,4}(y) = p^3(y) + 2p(y)$ $F_{p,5}(y) = p^4(y) + 3p^2(y) + 1$ and so, on For p(y) = x in equation (2.1) we obtain the Catalan's Fibonacci Polynomials as $F_{n+1}(x) = xF_n(x) + F_{n-1}(x), n \ge 1$ with initial condition $F_0(x) = 0, F_1(x) = 1$ (2.2) $F_1(x) = 1$ $F_2(x) = x$ $F_3(x) = x^2 + 1$ $F_4(x) = x^3 + 2x$ $F_5(x) = x^4 + 3x^2 + 1$ and so, on For p(y) = 2x in equation (2.1) we obtain Byrd's Fibonacci polynomials as $F_n(x) = 2xF_{n-1}(x) + F_{n-2}(x), n \ge 2$ (2.3)with initial condition $F_0(x) = 0, F_1(x) = 1$

The generating function $g_{F}(s)$ of the p(y)-Fibonacci polynomials is defined by

$$g_F(s) = \sum_{n=0}^{\infty} F_{p,n}(y) s^n = s [1 - p(y)s - s^2]^{-1}$$
(2.4)

where, $g_F(s)$ is a formal power series.

On differentiating equation (2.1) with respect to y we get

$$F'_{p,n+1}(y) = p(y) F'_{p,n}(y) + F_{p,n}(y)p'(y) + F'_{p,n-1}(y), n \ge 1$$
(2.5)
Theorem 2.1 If $F_{p,n}(y)$ is the $p(y)$ -Eibonacci polynomial, then prove that

Theorem 2.1. If $F_{p,n}(y)$ is the p(y)-Fibonacci polynomial, then prove that

$$(n-1)p'(y)F_{p,n}(y) = p(y)F'_{p,n}(y) + 2F'_{p,n-1}(y), n \ge 1$$

Proof: By generating function of $p(y)$ -Fibonacci polynomial we have

$$\sum_{n=0}^{\infty} F_{p,n}(y) s^n = s [(1 - (p(y) + s)s]^{-1}$$
(2.6)

Differentiating partially both sides with respect to s, we get

$$\sum_{n=0}^{\infty} nF_{p,n}(y)s^{n-1} = s[(1 - (p(y) + s)s]^{-2}[2s + p(y)] + [(1 - (p(y) + s)s]^{-1}$$
(2.7)

again, differentiating equation (2.5) partially with the respect to y, we get

$$\sum_{\substack{n \neq 0 \\ p_{n}(y)s^{n} = s[(1 - (p(y) + s)s)]^{-2}[sp'(y)]}}{\sum_{\substack{n = 0 \\ p \neq 0}^{n \neq 0}} F'_{p,n}(y)s^{n-1} = s[(1 - (p(y) + s)s)]^{-2}(p'(y))$$

$$\sum_{\substack{n = 0 \\ p \neq 0}^{\infty}} F'_{p,n}(y)s^{n-1} = s[(1 - (p(y) + s)s)]^{-2}$$
(2.8)
by equation (2.7) and (2.8) we get
$$\sum_{\substack{n = 0 \\ n \neq 0}}^{n = 0} nF_{p,n}(y)s^{n-1} = \frac{(2s + p(y))}{p'(y)} \sum_{\substack{n = 0 \\ n \neq 0}}^{\infty} F'_{p,n}(y)s^{n-1} + [1 - (p(y) + s)s]^{-1}$$
by using equation (1.2.6), we get
$$\sum_{\substack{n = 0 \\ n \neq 0}}^{n = 0} nF_{p,n}(y)s^{n-1} = \frac{(2s + p(y))}{p'(y)} \sum_{\substack{n = 0 \\ n \neq 0}}^{\infty} F'_{p,n}(y)s^{n-1} + \sum_{\substack{n = 0 \\ p'(y)}}^{\infty} F_{p,n}(y)s^{n-1} + 2\sum_{\substack{n = 0 \\ p'(y)}}^{\infty} F'_{p,n}(y)s^{n-1} + \sum_{\substack{n = 0 \\ n \neq 0}}^{\infty} F'_{p,n}(y)s^{n-1} + p'(y) \sum_{\substack{n = 0 \\ n \neq 0}}^{\infty} F_{p,n}(y)s^{n-1} + 2\sum_{\substack{n = 0 \\ p \neq 0}}^{\infty} F'_{p,n}(y)s^{n-1} + p'(y) \sum_{\substack{n = 0 \\ n \neq 0}}^{\infty} F_{p,n}(y)s^{n-1} + 2\sum_{\substack{n = 0 \\ n \neq 0}}^{\infty} F'_{p,n}(y)s^{n-1} + 2\sum_{\substack{n = 0 \\ n \neq 0}}^{\infty} F'_{p,n}(y)s^{n-1} + p'(y) \sum_{\substack{n = 0 \\ n \neq 0}}^{\infty} F_{p,n}(y)s^{n-1} + 2\sum_{\substack{n = 0 \\ n \neq 0}}^{\infty} F'_{p,n}(y)s^{n-1} + 2\sum_{\substack{n = 0 \\ n \neq 0}}^{\infty} F'_{p,n}(y)s^{n-1} + p'(y) \sum_{\substack{n = 0 \\ n \neq 0}}^{\infty} F_{p,n}(y)s^{n-1} + 2\sum_{\substack{n = 0 \\ n \neq 0}}^{\infty} F'_{p,n}(y)s^{n-1} + p'(y)F'_{p,n}(y) + F'_{n-1}(y) = p'(y)F_{p,n}(y) + p'(y)F'_{p,n}(y) + p'(y)F'_{p,n}(y) + p'(y)F'_{p,n}(y) + p'(y)F'_{p,n}(y) + F'_{n-1}(y) + F'_{n-1}(y) = (n - 1)p'(y)F'_{p,n}(y) + p'(y)F'_{p,n}(y) + p'(y)F'_{p,n}(y) + f'_{p,n-1}(y) = (n - 1)p'(y)F'_{p,n}(y) + p'(y)F'_{p,n}(y) + f'_{p,n-1}(y) = n(-1) + 1)p'(y)F'_{p,n}(y) + f'(y)F'_{p,n}(y) + F'_{p,n-1}(y) = (n - 1)p'(y)F'_{p,n}(y) + p'(y)F'_{p,n}(y) + f''_{p,n-1}(y) = n(-1) + 1)p'(y)F'_{p,n}(y) + f'(y)F'_{p,n}(y) + f''_{p,n-1}(y) = n(-1) + 1)p'(y)F'_{p,n}(y) + f''_{p,n-1}(y) + F''_{p,n-1}(y) = n(-1) + 1)p'(y)F'_{p,n}(y) + f''_{p,n-1}(y) = n(-1) + 1)p'(y)F'$$

Proof of part (ii): By equation (2.10) we have

$$\begin{aligned} (n-1)p'(y)F_{p,n}(y) &= 2F'_{p,n-1}(x) + p(y)F'_{p,n}(y) \\ (n-1)p'(y)F_{p,n}(y) - p(y)F'_{p,n}(y) &= 2F'_{p,n-1}(y) \\ \frac{1}{2}\left[(n-1)p'(y)F_{p,n}(y) - p(y)F'_{p,n}(y)\right] &= F'_{p,n-1}(y) \end{aligned} \tag{2.13} \\ \text{by using equations (2.12) and (2.13), we get} \\ np'(y)F_{p,n}(y) &= F'_{p,n+1}(y) + \frac{1}{2}\left[(n-1)p'(y)F_{p,n}(y) - p(y)F'_{p,n}(y)\right] \\ (n+1)p'(y)F_{p,n}(y) &= 2F'_{p,n+1}(y) + [(n-1)p'(y)F_{p,n}(y) - p(y)F'_{p,n}(y)] \\ (n+1)p'(y)F_{p,n}(y) &= 2F'_{p,n+1}(y) - (n+1)p'(y)F_{p,n}(y) \\ p(y)F'_{p,n}(y) &= 2F'_{p,n+1}(y) - (n+1)p'(y)F_{p,n}(y) \\ \text{Theorem 2.3 If } F_{p,n}(y) &= 16p'(y) + 10p'(y) + 10p'(y) + 10p'(y) \\ (n-1)F'_{p,n+1}(y) - (n+1)F'_{p,n-1}(y) &= np(y)F'_{p,n}(y) \\ \text{Proof: By using equation (2.5), we have} \\ F'_{p,n+1}(y) &= p(y)F'_{p,n}(y) - F'_{p,n-1}(y)p'(y) \\ F'_{p,n+1}(y) &= p(y)F'_{p,n}(y) - F'_{p,n-1}(y)p'(y) \\ \text{by multiplying n on both sides, we get} \\ n[F'_{p,n+1}(y) - p(y)F'_{p,n}(y) - F'_{p,n-1}(y)] &= nF_{p,n-1}(y)p'(y) \\ \text{by using equations (2.12) and (2.15), we get} \\ n[F'_{p,n+1}(y) - p(y)F'_{p,n}(y) - F'_{p,n-1}(y)] &= F'_{p,n+1}(y) + F'_{p,n-1}(y) \\ (n-1)F'_{p,n+1}(y) - (n+1)F'_{p,n-1}(p) &= np(y)F'_{p,n}(y) \\ (2.15) \end{aligned}$$

III. p(y)-LUCAS POLYNOMIAL

The p(y) - Lucas polynomials are defined as $L_{p,n+1}(y) = p(y)L_{p,n}(y) + L_{p,n-1}(y), n \ge 1$ (3.1) with initial conditions $L_{p,0}(y) = 2$, $L_{p,1}(y) = p(y)$, where p(y) is a polynomial in variable y having real coefficients

By taking p(y) = x in equation (3.1) we get Lucas polynomials

 $L_{n+1}(x) = xL_n(x) + L_{n-1}(x), \ n \ge 1$

with initial conditions $L_{p,0}(x) = 2$, $L_{p,1}(x) = x$

the generating function of the p(y)-Lucas Polynomials is defined as

$$g_{L}(s) = \sum_{n=0}^{\infty} L_{p,n}(y)s^{n} = (2 - p(y)s)[1 - (p(y) + s)s]^{-1}$$
(3.2)

on differentiating equation (3.1) we obtained

$$L'_{p,n+1}(y) = p(x) L'_{p,n}(y) + p'(x) L_{p,n}(y) + L'_{p,n-1}(y)$$
(3.3)
Theorem 3.1 If F (u) is the p(u) Etheracci relevant of L (u) is the p(u) Lyce relevant the

Theorem 3.1 If $F_{p,n}(y)$ is the p(y)-Fibonacci polynomial and $L_{p,n}(y)$ is the p(y)-Lucas polynomial, then prove that

 $np'(y)L_{p,n}(y) - p(y) L'_{p,n}(y) = 2[L'_{p,n-1}(y) + p'(y)F_{p,n-1}(y)]$ **Proof:** We know that generating function of p(y)-Lucas polynomial given by

$$\sum_{n=0}^{\infty} L_{p,n}(y) s^n = (2 - p(y)s) [1 - (p(y) + s)s]^{-1}$$
(3.4)

On differentiating equation (3.4) partially with respect to s, we get

$$\sum_{n=0}^{\infty} nL_{p,n}(y)s^{n-1} = (2 - p(y)s)[1 - (p(y) + s)s]^{-2}(p(y) + 2s) - p(y)[1 - (p(y) + s)s]^{-1}$$
(3.5)

again, differentiating equation (3.4) partially with respect to y

$$\sum_{n \equiv 0}^{n \equiv 0} L'_{p,n}(y) s^{n} = (2 - p(y)s) [1 - (p(y) + s)s]^{-2} (p'(y)s) + [1 - (p(y) + s)s]^{-1} (-p'(y)s)$$
$$\sum_{n = 0}^{n \equiv 0} L'_{p,n}(y) s^{n} = sp'(y) [(2 - p(y)s)[1 - (p(y) + s)s]^{-2} - [1 - (p(y) + s)s]^{-1}]$$

$$\frac{1}{p'(y)} \sum_{n=0}^{\infty} L'_{p,n}(y) s^{n-1} = (2 - p(y)s) [1 - (p(y) + s)s]^{-2} - [1 - (p(y) + s)s]^{-1}$$

$$\frac{1}{p'(y)} \sum_{n=0}^{\infty} L'_{p,n}(y) s^{n-1} - [1 - (p(y) + s)s]^{-1} = (2 - p(y)s) [[1 - (p(y) + s)s]^{-2} \quad (3.6)$$
by using equations (3.5) and (3.6), we get
$$\sum_{n=0}^{\infty} nL_{p,n}(y) s^{n-1} = (p(y) + 2s) \left[\frac{1}{p'(y)} \sum_{\substack{n=0 \\ n=0}}^{\infty} L'_{p,n}(y) s^{n-1} - [1 - (p(y) + s)s]^{-1} \right] - p(y) [1 - (p(y) + s)s]^{-1}$$

$$\sum_{n=0}^{\infty} nL_{p,n}(y) s^{n-1} = \frac{p(y)}{p'(y)} \sum_{\substack{n=0 \\ n=0}}^{\infty} L'_{p,n}(y) s^{n-1} + \frac{2}{p'(y)} \sum_{\substack{n=0 \\ n=0}}^{\infty} L'_{p,n}(y) s^{n-1} + [(p(y) + 2s) - p(y)] [1 - (p(y) + s)s]^{-1}$$

$$\sum_{\substack{n=0 \\ n=0}}^{\infty} nL_{p,n}(y) s^{n-1} = \frac{p(y)}{p'(y)} \sum_{\substack{n=0 \\ n=0}}^{\infty} L'_{p,n}(y) s^{n-1} + \frac{2}{p'(y)} \sum_{\substack{n=0 \\ n=0}}^{\infty} L'_{p,n}(y) s^{n} + 2s[1 - (p(y) + s)s]^{-1}$$
by using equation (2.4)
$$p'(y) \sum_{\substack{n=0 \\ n=0}}^{\infty} nL_{p,n}(y) s^{n-1} = p(y) \sum_{\substack{n=0 \\ n=0}}^{\infty} L'_{p,n}(y) s^{n-1} + 2\sum_{\substack{n=0 \\ n=0}}^{\infty} L'_{p,n}(y) s^{n} + 2p'(y) \sum_{\substack{n=0 \\ n=0}}^{\infty} F_{p,n}(y) s^{n}$$
by equating coefficients of s^{n-1} on both sides, we obtained
$$np'(y) L_{p,n}(y) - p(y) L'_{p,n}(y) + 2L'_{p,n-1}(y) + p'(y) F_{p,n-1}(y)$$
from 3.2 If $F_{p,n}(y) = (n-1)p'(y) L_{p,n}(y) - 2p'(y) F_{p,n-1}(y)$
Proof: By equation (3.3), we have
$$U'_{p,n+1}(y) + U'_{n,n-1}(y) = (n-1)p'(y) L_{p,n}(y) - 2p'(y) F_{p,n-1}(y)$$
Proof: By equation (3.3), we have
$$U'_{p,n+1}(y) + U'_{n,n-1}(y) = (p) L'_{n,n}(y) - L'_{n,n-1}(y) = p(y) L'_{n,n}(y) - L'_{n,n-1}(y) = p(y) L'_{n,n}(y) + p'(y) L_{n,n}(y)$$

$$L'_{p,n+1}(y) + L'_{p,n-1}(y) = 2L'_{p,n-1}(y) + p(y)L'_{p,n}(y) + p'(y)L_{p,n}(y)$$

by using equation (3.7) we get

$$L'_{p,n+1}(y) + L'_{p,n-1}(y) = np'(y)L_{p,n}(y) - 2p'(y)F_{p,n-1}(y) + p'(y)L_{p,n}(y)$$

$$L'_{p,n+1}(y) + L'_{p,n-1}(y) = (n+1)p'(y)L_{p,n}(y) - 2p'(y)F_{p,n-1}(y)$$

CONCLUSION

In this paper we have establish and prove some identities involving p(y)-Fibonacci and p(y)-Lucas Polynomials are described with derivation by using generating function of these polynomials.

REFERENCES

- Bicknell Marjorie, A Primer for the Fibonacci Number: part and VII An introduction to Fibonacci polynomials their Divisibility properties, The Fibonacci Quarterly, Vol. 8, No.4 (1970), 407-420.
- [2] Doman B. G. S. and Williams, J. K., Fibonacci and Lucas Polynomials, Mathematical Proceedings of the Cambridge Philosophical Society, Volume 90, Issue 3 (1981), 385-387.
- [3] Falcon S, Plaza A, On k-Fibonacci sequences and polynomials and their derivatives. Chaos, Solitons & Fractals, 39(2009),1005-19.
- [4] Hoggatt V.E. Jr, The Fibonacci and Lucas Numbers, Boston, M A: Houghton Mifflin, 1969.
- [5] Nalli A, Haukkanen P, On generalized Fibonacci and Lucas polynomials. Chaos Solitons Fractals, 42(2009), 3179-3186.
- [6] Sikhwal Omprakash, Generalized Fibonacci Polynomials and some identities International Journal of Computer Applications, Volume 153(12) (2016), 4-8.